TU EXAM QUEsTIONS

- — TU Exam 2015

grief Answer Questions; Group 'A'

':,J V2

b

0.

Define manag -
anagement accounting, [6x1=6]

What do you mean by marygj
What is opportunity cost? o
The following information :

e g Srllli\tztlon 1S provided to you,
Rs 1000 200

Rs 1400 400

Rs 1800 600

%eqlt_"]rled: .l*lxe.d -and variable cost using High low method
?e '0 9\\ INg Information of a manufacturing company is:
Beginning stock of raw material Rs. 15,000
Ending stock of raw ori ) o
& w material Rs. 25,000
Productive wages Rs. 200,000
Carriage inward Rs. 35,000
Purchase Rs. 300,000

al costing?

Required: Prime cost
The company purchase new machine costing Rs 60,000. Life of the machine is 5 yrs. Average

cash flow after tax for five years will be Rs 18,000.
Required: Payback period.

Group 'B'
Descriptive Answer Questions: [6x3=18]
7. Define Job order costing and give two examples where job orde:‘ costin.g in used.
8. "Budgeting is related with controlljng function (?f managemgnt. E.xp]am.
9., The following differences are hotified on reconcile cost and financial acc.ount-s:
[ Darticulas | Cost f\/] f)(RS) F‘"““C_l-‘)ll)?/c (Rs)
Factory overhead ;6(()&) ;;BBS
Office overhead i 10,606
Interest received 50,000 44,000
Opening stock 70,000 ?
aldeid Cost and Financial Accounts.
Required: Reconcile between * (1) é
10, Following information overheac o 000
Fixed manufacturing overhead 10,000
Normal capacity 1'833 L
Closing inventory ’ E\\ o lol:]l“,
wventory . 06U,

Beginning ir
1 der variable ot hstin
Net income un come under absorption costing:

Required: Reconcile ne‘t e sresented below: _

11./ The following information ﬂlet{ htb X and Y. Both are produced on the same equipment and
4 1cts: - A d X .

fead produces two prodt ion for last period is given below:

A company

Ay The i

use simil

Scanned with CamScanner



ACCOUNTING FOR DECISION MAKING

12/ Nepalese Plastic Industry products plastic buckets. An analy

Problem Solving Questions:

286
Product X Product Y
Output in units 6,000 8,000
Machine hours per unit 4 2
Orders handled in the period 12 60
No. of set-up 15 45

Other Information is:
Cost Pool Total Cost Cost Driver Cost Driver Rate
Relating to Production Set-ups Rs. 180,000 No. of set-up 3,000
Relating to Order Handling Rs. 72,000 No. of orders handled 1,000
Related to Machine Activities Rs. 80,000 Machine hours 2

~Required: CPU under Activity Based Costing method
sis of their accounting records

reveals:

Variable cost per bucket Rs. 40

Fixed cost Rs. 60,000 for the year

Capacity 3,000 buckets per year Selling price per bucket Rs 70.

Required:

a. Contribution margin ratio.

b. Break-even point (in unit).

c.  Number of buckets to be sold to earn a profit of Rs. 30,000.
Group 'C'

[4x6=24]

the relationship between sales, cost and profit."

13. "Cost volume profit analysis is used to analyze
Discuss. :
14. "Management reporting provides adequate business information to various levels of

\/15-/

management in the form of reports and statements at regular intervals". Comment.
The following information of sales, purchase and expenses are given below:
The recent and forecasted sales of the company have been given below:

Baishakh Rs 100,000 Shrawan Rs 100,000
Jestha Rs 150,000 Bhadra Rs 200,000
Ashadh Rs 150,000 Aswin Rs 250,000

40% of sales are for cash and rest on credit. Experience has been shown that 50% of credit sales
will be collected in the month of sales, 30% in the following month of sales and rest on next

following month of sales.
Creditors and the expenses would be paid in the month of purchase and the expenses and

urchases forecast for three months would be:

f' Month Shrawan Bhadra Aswin
) Expenses Rs 30,000 Rs 30,000 Rs 30,000
Purchases Rs 40,000 Rs 80,000 Rs 100,000

ould like to purchase a computer at a cost of Rs 80,000 in the month of Shrawan.

ould like to maintain a uniform cash balance of Rs. 20,000, which the company
T IrTRA . ) . .

ast. If there is any deficit company can borrow from the commercial

borrow and repayment of loan on a multiple of Rs. 10,000 with 12%

The company w
The company w
has maintaining in the p
bank. The company can

interest rate, which will be paid at the time of loan paid.

Required: Cash budget for three months starting Shrawan.

A company wants to replace its existing machine. The existing machine orginally cost Rs

270,000 has a present book value of Rs 120,000 and can be sold for Rs 150,000. The remaining

useful life of existing machine in 5 years, at the end of that period it will have a Le’sj%e of
(ST

Rs 30,000 and could be sold for Rs 20,000.¢5V(end
The new machine can be purchased for Rs 200,000 and will require Rs 25,000 for transportation

and installation. It will have Rs 20,000 salvage value at the end of 5 years and could be sold for
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287
E QUESTIONS
Rs 30,000 at that time, TU ExAm

expected to Ieduce operaeﬁl:\ew o
COmpany's Tequired rate of i
depreciation,

Required:

a.  Initial cagh Outlay,

c.  Final year ¢4

. . Ctis
achine will gaye release) a working capital of Rs 10,900 =i
st of Rs 40,000 per year with the use of new .machln}r;’. e
Teturn jg 12%, tax rate is 50% and it uses straight line metho

sh flow aft b.  Annual cash flow after tax.
fa it er tax, '
e. Desn-ablllty of the project. ax d.  Net present value e
Comprehensive Angyer Questions: Group 'D .

a is the Chairman of Bishal Company (P) Ltd., which Produces and sells balls.

BishalIConxpany (P) Ltd. is a leading manufacturing company in Nepal. It exports its produc_;}t\o
USA, ndxn. _]apan, Korea ang Singapore, 1t is established under the Companies Act, 2063, The
company is in 25% tax bracket under the Income Tax Act, 2058.

: s for the past year were as follows:
Variable costs Per units:

Direct materials Rs3
Direct Labor

4
Variable Manufacturing overhead !

Variable sellin overhead 15
Fixed costs per year, o ———

Fixed manufacturing overheads
Fixed selling overhead

Fixed administrative overhead

Rs 200,000
40,000
40,000
During the year, Bishal Co. produced 200,000 balls and sold 225,000 at Rs 14 each. Bishal Co.
had 31,000 balls in the beginning finished goods inventory; the costs have not changed from the
last year to this year. An actual cost system is used for product costing.

On reconciliation of Cost and Financial Accounts of a company the following differences are

noticed:
Factory overhead under recovered in Cost Account Rs 5,000
Bank interest credited in Financial Account Rs 10,000 i
Opening stock over recorded in financial account Rs 4,000
Required:

As a chief financial analyst of the company, you have been asked by the Chairman of the Bishal
& 7 to pass your suggestions on the following issues: |

Om}I)’an} epcnst sheet for the past year showing prime cost, factory cost, cost of production,
a. repar '

’ rofit. | |
o SlalellS arczl(iiffirence between profit shown by cost account and financial account.

. S\fliotn'a gislﬁl's variable cost ratio? What is its contribution margin ratio?
C. at 1s c

. for break-even? What is the expected margin of
enue must Bishal earn
d. How much sales rev

safety? ishal generate to earn an after tax profit of Rs 63,000?
nue must Bishal g 3 ,
e. How much sales reve

f ffect ontribution margin ratio if the unit sellin price and the vari 1
is the effect on the c
. What is : nt g € variable

TU Exam 2016
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TU Exam 2016

[2+2+2+2+2+2]

Group 'A’
Brief Answer Questions:

L. Define opportunity cost.

2 Write in brief any two limitations of cost accounting.
3. What is budgetary control?

i

The following data are given

S S —
e e ;
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ACCOUNTING FOR DECISION MAKING

288

Variable cost per unit  Rs 8
Fixed cost Rs 8,000
Required: Cost for 800 units by using Y =a + bX

5. A company is considering the purchase of a new machine at
has an expected life of 5 years. Average cash flows during the
Rs 12,000.
Required: Payback period of the machine.

6. 1f selling price per unit is Rs 20, variable cost per unit is Rs. 12
out breakeven point in Rs.

a cost of Rs 42,000. The machine
expected life of the machines is

and fixed cost is Rs 80,000 find

Group 'B'
Descriptive Answer Questions: [6x3=18]
7. Explain the role of accounting in decision making.

8 Differentiate between product cost and period cost.

9. The following information are presented below:

- \% A company produces two products: X and Y. Both are produced on the same equipment and

\C. use similar processes. The information for last period is given below:

;9 Product X Product Y
Output in units 6,000 8,000
Machine hours per unit 4 2
Orders handled in the period 12 60
No. of set-up 15 45

Other Information is:
Cost Pool Total Cost Cost Driver Cost Driver Rate
Relating to Production Set-ups Rs. 180,000 No. of set-up 3,000
Relating to Order Handling Rs. 72,000 No. of orders handled 1,000
Related to Machine Activities Rs. 80,000 Machine hours 2
Total Rs. 332,000

Required: CPU under Activity Based Costing method
manufacture a single product; the operating data for period is given below

'(10.] A company
J Production Units 1,800 units Fixed Manufacturing Cost Rs 9,000
Sales Units 1,600 units Fixed Selling Overhead Rs 10,000
Prime cost Rs 25 per unit Variable Selling Overhead 5% of Sales
Selling Price per Unit Rs 40

Required: Income Statement under Absorption Costing
11. The following information has been obtained from the records of a factory:

/ Opening stock of raw material 40,000

7/ Closing stock of raw material 30,000
Wages 200,000

Factory overhead 90,000
Purchase of raw material 450,000

Opening stock of finished goods 60,000

Closing stock of finished goods 50,000

Selling and distribution overhead 20,000

Administrative expenses 30,000

Required: Cost sheet.

The following information are
Net profit shown by financial account was Rs. 10,000.
Administration expenses was over charged in cost account Rs7
Interest on investment was Rs. 2,000.

Bad debt written off during the year was Rs 2,000,
Over valuation of closing stock in financial account was Rs 6,000
Under valuation of opening stock in cost account was Rs 4,000.

extracted from a book of a company:

—

J9

,500.
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Required: Reconciliation statem t TU ExAM QUESTIONS 280
ent.

:roble\rln Solving Questions: Group 'C’

1 Y anagement rePOrﬁn

- . g pTOVid =

management in the form of repo es adequate business information to variou ][4’6 24]

4. "Cost volume profit analysis if rt? and statements at regular intervals". Comment Pt

5 Actual and = gt ) an important t i : - )

V) predicted sales in Rs. of a ma"ufa:tcuh,?:‘gu;c;f g;:;lt Pl?ﬂmnt;);e ;‘md control”, discuss.
 is given below:

/
- Actual
:l;;:l Rs. 100,000 Tl Budgeted P '_QJ!_‘;,;
3 Rs. uly Rs. 150,000 A
| June ny ggﬁg August Rs. 120,000 e
a. The firm incurs and — Septermber Rs. 150,000
b Wages and Salaalj Pfa)’s a monthly rent expense of Rs 6,000.
ries for the coming months are estimated as follows: July - Rs. 20,000;

rm's sales, 40 percent is collected in the th of sal
sale, & the remaining 30 percent el
4+ Merchandise purch g o0 percen two months after sales.
< The firm 1}31 ase is eq.ual to 80 percent of sales and will be paid same month.
: purc ase new equipment at the beginning of the July for Rs. 120,000.
f.~ A depreciation expense is Rs 12,000 annually. N6 inelude
g. T'he firm issue share capital of Rs 100,000 during September.
The firms beginning cash balance for the budget period is Rs. 0,000 and this is the minimum
desired balance for each month. Determine when and how much the firm will need to borrow
during the budget period. The firm has Rs 400,000 line of credit with its
percent annual) paid at the time of repayment. i
’/—\ Required: Cash budget for the three-month period ended September, 2014.
16. | A Company purchased 2 machine 10 years ago0 for Rs 300,000. The machine had an expected life
@ of 15 years with zero salvage value at the end. Current market value of the old machine is Rs
110,000. The new machine wi 0,000 with transportation and installation cost of .

Rs 10,000. This new machine wou ed annual operating cash saving of Rs
120,000. The useful life of the new machine is 5 year and estimated salvage value at the end of 5
any uses straight-

years would be Rs 10,000. The comp line method of depreciation. The
inery would requi ed additional working capital
Id be Rs 5,000 and Rs 20,000

30 percent onée month after

bank with interest (12

of Rs 20,000 The

investment in the new machin . :

cash salvage value of old and new machinery in 5 years would

respectively. The corporate tax rate is 25% and cost of capital is 10%- )

R - d: . ether new machine should be acquired or not. pefar - jo§, 60

ciua) Group 'D' MCo = 5!7.W° oy '1;;,7g-o

A’nsw stions: it [1x12=12]

Comprehe e at " Q::anufac.turing company which produced product XYZ has been given

rmal wastage of each

17,/ The information of a
y and Z. The m0

h was sold at Rs 2, Rs 4 and Rs 5 per

gh three processes X,

¥ below: Z throu
¢ XYZ passes ‘
The produc op and 10% for process X, Y and Z whic
process was ses were as follows:
: — ProcessY
80,000
10,500 15,000 _

| Ctual output was for Process X 9,500 units, process Y 9,000
Input in proces® Xwa :

rmal LOSS Accoun & [2+-’l_*4+2=121

units and process / and Z accounts and Abno

Required: process X/ ¥ 2
no opening ©F closing StOCF
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S ———

ACCOUNTING FOR DECISION MAKING

TU Exam 2017

Group 'A’ —
Brief Answer Questions: s
1.  Write any two objectives of management accounting,. |
2. Define break-even point.
3. What is period cost?
8. If the profit volume ratio is 40% and profit is Rs 40,000, find out the margin of safety.
N/S; A manufacturing company has a normal capacity of 5,000 units. The cost details at normal

——

@)

capacity are:

Prime cost per unit Rs 6

Fixed cost Rs 5,000

Repair and maintenance  Rs 10,000 (60% of variable)

Required: Cost for 6,000 units

The company purchase new machinery costing Rs 50,000 and transportation costs of Rs 10,000,
Life of the machine is 10 years with salvage zero. Average net profit after tax for ten years and
be Rs 6,000.

Required: Average Rate of Return.

Group 'B'
Descriptive Answer Questions: [6x3=18]
7.  Explain the different features of job costing.
8. Budgeting means "accounting in the future", explain.

5%

The profit from financial accounting is Rs 20,000. On reconciliation of cost and financial
accounts of a company, the following difference are noticed.
Works overhead under recovered in cost account - Rs 4,000

Bank interest credited - Rs 3,000
Value of opening stock - Rs 40,000
Value of closing stock - Rs 50,000
Loss on sales of equipment - Rs 1,000

_ Required: Reconcile between Cost and Financial Accounts.

10/

11.

Following information is provided to you:

Fixed manufacturing overhead (Rs) 90,000
Normal capacity units 18,000
Different in units of closing and opening inventory 4,000

Profit from absorption costing (Rs) 60,000

Required: Reconcile net income under variable costing.
The following information of process 2 account are given below:

Output from preceding process @ Rs 10 - 10,000 units
Normal loss in the process @ Rs 2 - 5% of input
Qutput to next process - 9,400 units
Other expenses - Rs 34,000

Required: Process 2 account.

" Income statement of a Manufacturing Company is as follows:

Production and Sales Units: 10,000
Sales Revenue @ Rs 20 per unit Rs 200,000
Less: Variable Cost @ Rs 12 per unit Rs 120,000
Contribution Margin Rs 8,000
Less: Fixed Cost Rs !()00(1
Net Income before Tax Rs 40,000

Required: (a) BEP in units and Rs. (b) Sales units to earn Rs. 60,000

Scanned with CamScanner



problem Solving

-

13
4
15/
J

~/

Comprehensive AnsWer Q

17,/

Differentiate be

TS < C ity

201
TU Exam QUESTIONS
Ql.lestio“& GrDup o

Ven analy [4><b=24]

"The break-¢

Sis is 3
i use Ay
tween f; ful device of profit planning " Discuss.

lNancja]

ac

ation of sa] count and cost account with suitable exam ple.
. €S, purchase and expenses are given below:

Historical
100,000
110,000
120,000

Predicted
130,000
120,000
150,000

July
August
September

‘A firm is considering the acquisition of equipmen
- _“to have a useful life of five years. The transpo

Qctober 120,000

The firm incurs and -
c.  Wages and salaries fpa.‘ s a monthly rent expenses of Rs 6,000.

July - Rs 18,000 A;; or the coming months are estimated as follows:
Of the firm's Sa’les f(‘)lﬂ -Rs 29:000 and September - Rs 22,000.
sale, & the mm&inino 3pgrcent is collected in the month of sales, 30 per
Merchandise oy &N percent two months after sales.
Utilities for the ﬁnnase is equal to 80 percent of sales and paid same monfh .
. Ade o a\'e_rage 2 percent of sales & are paid in the month of their
g ; ],?recxaan expense is Rs 12,000 annually.
If tl'.\e firm's beginning cash balance for the budg'_:et period is Rs
desired ba.!ance. Determine when and how much the firm wi
budget period. If required, the firm can borrow from bank with 12
at the time of repavment.
Required: Cash budget for three months starting

cent one month after

e.
f.

hcurrence.
5,000 and this is the minimum

Il need to borrow during the
percent interest per year paid

July.

t costing Rs 400,000. The equipment expected
rtation and installation charges for project
dditional of Rs 20,000 each. At the end of 5t year the machine would have book
000 and Rs 60,000 respectively. The project yields annual
depreciation before tax. The corporate tax is 25% and the

required an a
and cash salvage value of Rs 40,
surplus of Rs 80,000 after charging
minimum required rate is 10%.
Required:

Initial cash outlay.

—

1|7

a.
b.  Annual cash flow after tax. '
c. Final year cash flow after tax. / Teﬂmnaf jf’ oy
d. Net p}esent value.
e. Desirability of the project. [142+1+1+1]
Group 'D’
[1x12=12]

uestions:
ts: A, B and C. All products are produced on the same

o oduces three produc , : :
2 c_ompa\!‘:) af‘; use similar processes. It exports 1ts product to USA, China, India, Europe and
eCIUIpn}r;-’ﬂ : fom‘l_ﬂﬁon tor last period are given below:
Japan. The 1IN0 Labour Hour Machine Material per | Production
Products Output Units er Unit Hour per Unit Unit (Rs) Run
"] 2,000 3 2 . 20
A ;’000 4 3 12 15
g 10,000 : 2 : - .
‘—-" i - .
Direct Labour Cost per Hour is Rs
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ACCOUNTING FOR DecISION MAKING

292
Lhe costs of the activities are as follows: - —
ltems Cosly SR SUS—— __Cost Drivers

Schedule Costs ‘"““""\,:J“"”"”r l,r”d’{("l”m Pun

Repairs Costs Rs 118,000 J;'-/Ia(;}'u'r e ] Jr:u rs

S(‘t-up Costs 12 135,000 ’rod Uf fion Kuns

Indirect Labour Rs 138,000 DI

you have been asked by the Chairman of

Required: As a chief financial analyst of the company,

the Company to answer on the following issues:
Cost per unit under Conventional Method using machine hours

a.
Cost per unit under Activity Based Costing Method

b. |
Profit per unit if selling price per unit of Rs 40, Rs 55 and Rs 60 for products A, B and C

L
[345+2+2]

=7

respectively from both method.
d. Comment on the results.
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d. Comment On e reasumes,

TU Exam 2018

Brief Answer Questions:

O PO =

(

Descriptive Answer Questions:

7.
8.
)

10

Group 'A'
[6x1=6]

What is cost accounting?

Write the meaning of product cost.

Write in brief any two limitations of financial accounting,

The difference in total cost is Rs 4,500 and difference in unit 450, The fixed cost tor the periad 1

Rs 5,730, Calculate the total cost for 7,000 units.

The following information of manufacturing company are provided:

Prime Cost Rs 150000
Work Overhead Rs 75,000
Opening Stock ot W-I-I Rs 25,000
Closing Stock of W-I-P FORs 300m)

Required: Factory cost
The company purchase new plant costing Rs 250,000 with its lite 5 yvears. Average NIAT for 5
years will be Rs 75,000. W W
Required: Accounting rate for return (ARR). " YR, 2Y]
Group 'B' -

Distinguish between fixed overhead and variable overhead.
Define Job Order Costing and give any two examples of job order costing,
The following information are provided:

Particulars Cost account (Rs) Financial account (Re)
Work overhead 50,000 60000
Administrative overhead 20,000 15,000
Interest on investment - 20,000
Income tax paid - 25 (0N
Closing stock 40,000 15 000
Net profit 150 000
Required: Reconciliation statement
The profit and total cost of a company during two vears were as tollows:
Year Total cost (Rs) M___J o Profit (Rs)
2016 S=—E— AT»HT,I‘U\'\ ALY
2017 920,000 SO0

Required:

a.  Profit volume ratio

b, Fixed cost

€. Breakeven point in Rs.
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d. Comment on the results.

TU Exam 2018

[3+ 5+2+2]

Brief Answer Questions:
1.  What is cost accounting?

2. Write the meaning of product cost.

Write in brief any two limitations of financial accounting,

47 The difference in total cost is Rs 4,500 and difference in unit 450. Th
/ Rs 5,750. Calculate the total cost for 7,000 units.

The following information of manufacturing company are provided

3.

5

Group 'A'

—

[6x1=6)

e fixed cost for the period is

Prime Cost Rs 150,000
Work Overhead Rs 75,000
Opening Stock of W-I-P Rs 25,000
Closing Stock of W-1-P Rs 30,000

Q Required: Factory cost
/
G

The company purchase new plant costing Rs 250,000 with its 11fe 5 years. Average NIAT for 5

years will be Rs 75,000.

o
Required: Accounting rate for return (ARR). ™

Descriptive Answer Questions:

Group 'B'

Profit volume ratio
b.  Fixed cost
C.

Breakeven point in Rs.

[6x3=18]
7. Distinguish between fixed overhead and variable overhead.
8.  Define Job Order Costing and give any two examples of job order costing
9./ The following information are provided:

g Particulars Cost account (Rs) Financial account (Rs)
Work overhead 50,000 60,000
Administrative overhead 20,000 15,000
Interest on investment - 20,000
Income tax paid - 25,000
Closing stock 40,000 45,000
Net profit ~ 150,000 -

ARequired: Reconciliation staleant
10, The profit and total cost of a company during two years were as follows:
’ Year Total cost (Rs) Profit (Rs)
2016 740,000 60,000
2017 920,000 80,000
Required:
a.
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A company
p } manufactul.in

Selling price per s

J

293

TU ExAM QUESTIONS

g asingle py
Product, the opening data for period is given below:

Prime cost per ynjt
Fixed manufa . Rs 60
" ., lacturing cost
rl,\e.d SC“mg overhead Rs 25
Variable selling oyer| Rs 100,000
rerhe;
Normal capa city ead El;s 80,000
Production units 5% of Salgs
Sold unit ;%830 urntxts
. k S
{losing stock unit 9,000 L"Q?ts
™ Required: In . ' i
pA q‘_ o come statement under absorpti : 000 amifs
/12. ) /Consider the following information ption costing
< C .

Direct material
Direct labour charge
Factory overhead
Office overhead
Selling overhead

Rs 4,000
Rs 6,000
20% of prime cost

Opening stock :
Closing stock 388 un}:s
Sales units
) 2500 units

Selling price per unit Rs 20 per unit

50% on factory overhead
40% of cost of goods sold

Required: Statement of cost and profit.
Group 'C'
Problem Solving Questions:
13. "Management account

management decision making." Explain.
14. "Cost volume profit analysis is an important technique of pr
=z

making". Discuss.
The Nepal Everest Company w
The current machine was purch
Company would receive zero value
Rs 60,000.
The new mac
the end of life
would increase from
20,000 per year. Deprecia
the rate is 25%.

ants to r(-placcment one of the

at the end

hine will be purchased at
is Rs 20,000. The new m
Rs 100,000 to Rs 120,
tion is charged a

is concerned with accounting information,

ased at Rs 100,000 five years ago with
of the life but it is sold today w

a cost of Rs 220,000. It has

achine has greater capacity an
000. The new machine will save operating cost of Rs

t straight line method. The cost of capital is 10% and

[4x6=24]

which is useful to

ofit planning, control and decision

old machine by new machine.
a useful life ten years.
/ill be realized at @\
SN
; 7
an estimated resale value at
d it is expected the sales

and remaining 60% on credit.
e month of sales, 30% in

Required: a\()\%
a. NCO
b. CFAT
I e ‘AT R . . .
3- r;nal|)1L?; Cc{)mpm\’ replace the machine or not using NPV criteria?
y uld theé — . ¥y -olli % i
- Sho 1as been 2 following a polu) of selling 40% in cash .
< A Company 45 that 50% of credit sales would be collected in th
ShOWn 1dl - 201}(’ in t]

:perience has ni
Experience h¢ 5 and remaining

onth of sale

1e next following month of the sale.
have been given below:
[l

1les of the Company

the following m
ecasted S

Ghrawan (Forecasted)

Rs 100,000

The actual and for

Bhadra (Forecasted
" Aswin (Forecasted)

Rs 200,000
Rs 250,000

the month of purchase

ou
Croditors and expenses wo

forecasted for three ™M

and the expenses incurred. The

Scanned with CamScanner



~r

.

294

ACCOUNTING FOR DECISION MAKING

B :

Particulars Shrawan Bhadra Aswin
Expenses Rs 30,000 Rs 30,000 Rs 30,000
Purchase Rs 40,000 Rs 80,000 Rs 100,000

The company would like to purchase a computer at a cost of Rs 80,000 in the month of Shrawan.

The company would like to maintain uniformly cash balance of Rs 20,000, which the company

has been maintaining in the past.

The company would borrow loan and pay back in a multiples of Rs 10,000 from the commercial
bank at an interest rate of 12% p.a. The interest would be paid only _fgr_‘the,mamount,of,__l_oguj_

repaid in nearest Rs 100.

Required: Cash budget for three months ending Ashwin.

Group 'D'
Comprehensive Answer Questions: [1x12=12]
},7?’ - A manufacturing company provided the following particulars.
Particulars Process-I (Rs) Process-II (Rs) prl;lc;‘:xscl:(zgs)
Opening Stock 2,000 5,000 10,000
Direct Material 9,000 15,000 -
Direct Labor 5,000 12,000 -
Direct Expenses 4,000 8,000 -
Manufacturing Overhead 4,000 7,000 -
Closing Stock on prime cost 4,000 8,000 15,000
Inter process profit in Opening Stock - 1,000 4,000
Profit on transfer Price (%) 20 20 -
Sales e = 100,000
Required:

a. Process Accounts

b.  Finished Stock Account
c.  The value of Actual realized profit
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The value of Actual realized profit

TU Exam 2019
Group 'A’
[6 x1 = 6]

C.

Brief Answer Questions
Write in brief any two limitations of financial accounting.

Write in brief any two importance of cost accounting.

Define the meaning of cost sheet.
The following cost and output details are provided to you:

Cost (Rs) 60,000
Output units 4,000
Required: Total cost for 5000 units. Using Y =a + bx
The following information of a manufacturing company is available:

Profit from variable costing Rs. 40,000.

Profit from absorption costing Rs. 52,000.

Opening stock of finished goods were 3,000 units.

Closing stock of finished goods were 5,000 units.

e  Fixed manufacturing expenses (at normal capacity 10000 units) Rs. 60,000.
Required: Reconciliation of profit between variable and absorption costing.

The cash flows during the expected life of the machine are given below:
0 1 2 3 +
10,000 12,000 11,000 10,000

90,000
7,000

(00

et Years
Cash flows (Rs.) (30,000)

Required: Payback period.
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TU Exam QuesTions 295
cnptive
mscggfine ig?i‘ve' Q“esh'ons: Group 'p'
z & o rder cogy . _
¢ "Activity baseq Ost.mg. Mention Which business or [6x3=18]

range of prog 8 System is ganization uses this costing.

ucts" Ore relevant in determin duct in a wide
o The followip, tin r:mmem' etermining the cost of pro
Particy]
Materials s Job 2
‘ Labour Chargeg Rs. 6,000
Factory overheaq 1 Rs. 9,600 Rs. 9,600
o - 1S Char . 7,
Office overheagq 20% of Fii?osr(; /Z oft Labour charges
Required: o ’ Cos
he follows order cogt sheet showin total cost of each job
10.- J1he following mformation rov 4 cost of eac job.

v Year ided to you;

Sales (Rs.) — 2072 2073

Profit (Rs.) \558%%%0 685,100000
equired: 7 rats - ~ :

N Reg (2) Py ratio (b) Total Fixed Cost (c) Break even sales in rupees.

1./ A manufacfurm_g €ompany provided the following data:
4 + Raw material consumed

- . 60,000
o Direct wages Rs

_ Rs. 22,000
*  Opening stock of finjsheq goods (5000 units) Rs. 20,000
*  Factory overhead Rs. 10,000
*  Office and administrative overhead 20% of work cost.
*  Selling overhead Rs. 2 per unit.
*  Units produced 20,000 units
*  Units sold 22,000 units @ Rs. 10 per unit.
7\ Required: Cost sheet showing profit per unit.
12./ The following information is provided to you:
~ o Direct material Rs. 12 per unit
*  Direct labour E g per um:
p— - Variable .5 per uni
*  Factory ov erhead.:VF?ii?:; Re. 40,000
*  Office and administrative overhead fixed 10% of sales. '
*  Selling and distribution overhead:: ;/iaxrcxgble Ez ‘115%6(3;0““1*-

*  Opening stock of finished goods were 2,000 ur'1its
*  Closing stock of finished goods were 4,000.umts
¢ Sales 26,000 units with selling price per unit Rs. 40

i o »nt under variable costing.
Required: Income statemen ot
[4x6=24]
an important technique of profit planning and control". Discuss.
;t are the differences between Job Order Costing and Process

Problem Solving Questions: o
13, "Cost volume profit a1.1aly5|s’|s
4. What is process costing? Wh

Costing? achine. Two machines are available costing Rs. 50,000 each with

.]}" A company Want; to b;jiﬁgsn}fhe cost of capital is 10%. The net cash follow during the expected
life 5 years of both mac :

life of both machines are as below:

D [ ~ed 0
——
—_———
————
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ACCOUNTING FOR DEcCISION MAKING

296
Years 1 2 4 S
[ Machine A 30,000 25,000 22,000 20,000 33,000
Machine B 20,000 20,000 20,000 20,000 20,000

,(a) Payback period (b) NPV,

Required: Which machine should be purchased according to the following methods?

and other details are given below:

\/lgf The following information of sales, purchase
A3

Months December January February March
~ [ Sales (Rs) 400,000 500,000 600,000 650,000
Purchases (Rs.) 350,000 470,000 455,000 350,000

Purchases are paid after one month of purchase.
The firm has a policy of maintaining minimum cash balance of Rs. 20,000 and opening balance
of cash is Rs. 20,000. It was reached with an agreement with bank for 12% interest p.a. on loan,
All the borrowing and repayments are to be made in the multiple 5,000 and 1,000 respectively.
Amount of interest due are paid with loan repaid.

80% of sales are in cash. Credit sales will be realized after one month of sales.

Administrative expenses of Rs. 35,000 every month and selling expenses 5% of sales in each .
month, which will be paid in the same month. Furniture will purchase for Rs. 122,000 on

February.

Required: Cash budget for three months ending March.

Group 'D'

Comprehensive Answer Question:

J

[1x12=12]

A product passes through two distinct processes A and B and there after it transferred to
finished stock account. The results of each operation for the last month are as follows:

'

Particulars Process A Process B
Main materials 10,000 units @ Re.1 each Rs. 10,000 -
Direct materials Rs. 10,000 Rs. 15,000
Direct labour Rs. 60,000 Rs. 70,000
Manufacturing overhead Rs. 15,450 Rs. 15,895
Normal wastage in inputs 3% 5%
Actual output 9,500 units 9,100 units
Normal wastage realized per unit Rs. 2.50 Rs. 5.50

Required: (a) Process Accounts, (b) Abnormal loss, Abnormal gain and Normal loss accounts.
[3+3+2+2+2]
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